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FOREWORD
The Zanzibar Examinations Council has prepared the Item Response Analysis Report
for the 2023 Form One Entrance Examination in Social Science. The purpose of this
report is to provide feedback to students, teachers, parents, policy makers, curriculum
developers and other educational stakeholders about the performance of the candidates
in this subject.

Form One Entrance Examination intends to measure to what the extent the candidates
have learnt in their three years of Upper Primary Education. Through examination
results, the candidates receive a grade that indicates their level of performance which
help to make decisions whether they may proceed to Lower Secondary Education or
not.

The analysis presented in this report is intended to contribute towards the
understanding of possible reasons behind the candidates’ responses in Social Science
subject. The report shows some of the reasons that made the candidates whether to
perform good or poor. The possible factors that lead the candidates get good
performance include ability to identify the needs of the questions, high skills to
respond them the question and adequate knowledge of the concept related to the topics.

The factors that may clue the candidates to perform poorly are inability to identify the
needs of the questions, lack of skills for responding to the question and inadequate
knowledge of the concept related to the topics.

The detailed analysis displays that, samples from the candidates’ scripts to show poor
and good responses has been inserted. Finally, various tables with three different
colours which reveals how individual question was performed have been attached.

Hence, the feedback and recommendations provided in this report will enable various
stakeholders to take appropriate measures to enhance the performance of the future
candidates in Social Science subject through the National Examinations prepared in
Zanzibar by ZEC.

Finally, Zanzibar Examinations Council would like to express sincere appreciation to
the Examination officers and all who participated in the completion of this report.

Dr. RASHID .A. MUKKI

e -~

 DIRECTOR
ZANZIBAR EXAMINATIONS COUNCI
ZANZIBAR




1.0 INTRODUCTION

This report in Social Science subject is based on the analysis of the candidates’
performance for Form One Entrance Examination, 2023. The report covered the 2009
and 2022 syllabus and adhered to 2022 Zanzibar Standard Seven Examination Format
of Zanzibar Examinations Council.

The paper consisted the three sections namely A, B, C and D. Section A consisted of
two objective type questions. Section B and C had four short questions and section D
comprised of six questions. The candidates were required to attempt all questions in
section A, B and C and only three questions at section D. In general candidates were
required to answer ten questions in all four sections.

2.0SAMPLED CANDIDATES

The numbers of candidates who have been analyzed were 1,418 equal to 37.56% to all
candidates (3,775) who sat for this paper. In this analysis, the candidates’ scores for
each question are interpreted as follows: from 00 to 20 percent is considered as poor,
average if the scores range from 21 to 60 percent and good if the candidates’ score
from 61 to 100 percent.

These performance are shown by using different coloured tables. The colour presented
are green colour means good performance, yellow colour means average performance
and red colour means for poor performance.

3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER QUESTION
This section identifies the questions set for candidates in sections A, B Cand D. Also it
identifies the percentage of candidates who attempted the questions with those who got
poor, average and good marks. Finally, the extracts of poor and good responses have
been inserted.

3.1 SECTION A: OBJECTIVE QUESTIONS

There were two compulsory questions in this section, namely question 1 and 2. Each
question carried 10 marks, thus making a total of 20 marks. For convenience analysis
of each question in this section, the following performance ranges have been used.
Candidates’ scored from 0 to 2 marks is considered as poor, from 2.5 to 6 marks is
average and from 6.5 to 10 marks is good performance.

3.1.1 Question 1: Multiple Choice
This question consisted of 10 multiple choice items from (i—x) which constructed from
various topics of the Social Science Syllabus. The candidates were required to choose




the correct answer among the given alternatives and write its letter beside the item
number. The items tested were as follows:

Item (i) required the candidates to identify the correct year in which multiparty system
has established in Tanzania from the following given alternatives: A: 1990. B: 1992. C:
1995. D: 1999.

Item (ii) required the candidates to choose the correct year in which the African Union
was officially established from the given alternatives: A: 2000. B: 2001. C: 2002. D:
2003.

Item (iii) required the candidates to choose from the given list the leader who is not
among the leaders of the cabinet of the United Republic of Tanzania. The given
alternatives were as follows: A: The President of the United Republic of Tanzania B:
The President of the Revolutionary Government of Zanzibar C: Members of the House
of Representatives of Zanzibar D: Prime Minister of the United Republic of Tanzania.

Item (iv) candidate was asked “among the following methods, which one is not related
to the provision of warning information. A: Whistle and screams B: Running and
crying C: Running and laughing D: Calls and cries.

Item (v) Candidate was asked “one of the goals of the establishing the African Union
(AU) is to protect the freedom and management of””: Candidate was required to choose
correct response from the following given alternatives: A: India B: Member States C:
European countries D: Zanzibar.

Item (vi) required the candidates to identify the principle which is not found in the
constitution of Zanzibar from the given alternatives. A: Existence of Independent
Judicial B: Cooperation between government agencies and society C: Separation of
power D: Equality before the law.

Item (vii) required the candidates to identify the language which unites the
Commonwealth countries from the given alternatives: A: French B: English C: German
D: Swahili.

Item (viii) required the candidates to choose the correct meaning of gender from the
following given alternatives: A: The genetic condition of being a women or a man B:
The genetic condition of parents and children C: Relationships between one family and
another D: Social relation between women and men.




Item (ix) required the candidates to choose the correct human rights available in the
rights of the first generation from the following given alternatives: A: Working B:
Access to education C: Getting development D: Freedom of thought.

Item (x) required the candidates to identify the effect of corruption in the society from
the given alternatives: A: Get services faster B: Get good interests for the worker C:
Get personal interest D: Get public safety.

Generally, this question aimed at assessing the level of remembering and
understanding of a candidate on different topics by choosing correct answer from the
given alternatives.

This question was attempted by 1,416 equal to 99.86 percent of all the candidates
whereby 02 equal to 0.14 did not attempt it. The general performance analysis of this
question, as shown in Table Number 1(a) below.

Table number 1 a: General Candidates’ Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS

AVERAGE

25-6

TOTAL | %

984 69.49

Table number 1(a) above indicates that high percentage of the performance rate is at
the average level where it has led to the overall performance being good for the 81.50
percentage.

Either, 262 candidates equal to 18.50 percent scores poor performance. The main
reason for poor performance was due to the fact that, these candidates opted incorrect
responses in this question 1 and got poor marks from 0 — 2 marks. Such responses
indicate that, the candidate had lack of knowledge on the topics from which the
questions derived as shown in extract 1.1.




Extract 1.1 (BAD)

ANSWERS
i. i, . iv. V. | Vi vil. viii. iX. X.

o B | b o | D | pajehole e

Extract 1.1 is a sample of a script of a candidate who opted incorrect responses all
items except item “x”. Such responses indicate that, the candidate had difficulty in
recalling the knowledge on the topics from which the questions derived to produce

relevant responses.

Either, 170 candidates equal to 12.01 percentage had good performance. The main
reason for good performance might be due to high ability of remembering the topics
from which the questions derived and hence enabled to produce relevant responses and
meet the requirement of the question as it shown in extract 1.2

Extract 1.2 (GOOD)

ANSWERS
i, . il iv. v. | Vi vii. vili. iX. X.

Bl o € | Bulg b lmesil |6

Extract 1.2 is a sample of a script of a candidate who performed well in this question
since the candidate opt almost correct responses and awarded high marks. This
indicates that the candidate well familiar with various topics which involved in this
question. However, candidate failed to identify the correct answer in item (ix) instead
of writing (ix — D) as correct answer candidate wrote (ix — B) which was incorrect.

3.1.2 Question 2: True and False Items

This question consisted of ten (10) items (i) to (x) which derived from different topics.
The question required the candidate to write *TRUE’’ if the statement was correct and
“’F’ALSE’ if the statement was incorrect. Each item carried 1 mark and making a total
of 10 marks. The items which derived from this question were as follows:




i. The first Constitution of Zanzibar was written in 1984.
ii. Good governance focuses on human rights and the rule of law.
iii. The president of the United Republic of Tanzania has the power to dissolve the

parliament.
iv. When a person gets AIDS, he or she is supposed to isolate him or herself from
the society.
V. The multiparty system is a system which has great coasts.
Vi. Drug abuse affects the user and his or her family as well.
Vil The speaker is the leader of government activities in the Parliament.
viil. One of the tasks of the JKU is to prevent smuggling.
iX. The East African Community is involved in environmental conservation.

X. The United Nations was officially established on 25/9/1945.

Generally, this question targeted to test the level of remembering and understanding of
the items by writing true or false statement.

This question was attempted by 1,417 equal to 99.93 percent of all the candidates
whereby 01 equal to 0.07 percent did not attempt it.

Table number 1b: General Candidates’ Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS

AVERAGE

25-6

TOTAL | %

988 69.72

Table number 1b indicates that a large percentage of the performance rate is at the
average level where it has led to the overall performance being good for the 97.81
percentage.

Either, 31 candidates equal to 2.19 percent scores poor performance. The main reason
for poor performance was due to the fact that candidates failed to identify the
requirements of the question from each item. This might be due to low ability of
remembering the topics used in this question hence produced irrelevant responses as it
shown in extract 2.1




Extract 2.1 (BAD)

ANSWERS

i, i, i, v [ . vi. \vu |viii ix. X.

Yf\\\& Nlb \‘K\\ \V\x\k[ﬂ\t&(\, Y’A e \RUG! R&w\ N G \RNE

Extract 2.1 is a sample of a script of a candidate who scored poor marks. This
candidate failed to write correct response almost all items except item number (ii and
iii). This indicates that the candidate lacked knowledge on the topics tested this may be
due to the fact that candidate has low ability to remember the topics learned.

On the other hand, 398 candidates equal to 28.09 percentages had good performance.
The main reason for good performances might be due to high ability of remembering
and understanding of the topics used in this question, hence produced relevant
responses and meets the requirement of the question as it shown in extract 2.2.

Extract 2.2 (GOOD)

ANSWERS

i ii. ii. iv Vv /i \ vii, | viil. X.
e TS T S - ] i 1 i
| T | T P e 1
todse ot [V TU alse | nul || rde (it alse, Nu \ L," |

Extract 2.2 shows a sample of a candidate who performed well in this question since
he/she able to opt almost all correct answers and awarded high marks. This indicates
that the candidate is well familiar with various topics involved in this question.
However, candidate failed to identify the correct responses in one items namely, item
(viii) instead of writing FALSE candidate wrote TRUE.

3.2 SECTION B: SHORT ANSWER QUESTIONS

There were two (2) compulsory questions in this section. The question 3, and 4. Each
question carried 10 marks, thus making a total of 20 marks. For the convenience of
analysis of each question on this section, the following performance ranges have been
used. The candidates scored ranging from 0 — 2 marks considered as poor, from 2.5 — 6
marks as average and from 6.5 — 10 marks as good performance.




3.2.1 Question 3: Fill in the Blank Items

The question consisted of five (5) statements derived from different topics and
candidate was required to complete the statements by filling in the blanks with correct
response in item “’a, b, ¢, d and ¢’’. Each item (a — €) comprised two blanks.The items
which derived from this question were as the follows:

Item (@) candidates were required to fill the blank by writing correct answer in the
following sentence. The Afro — Shiraz Party (ASP) was founded in 1957 by involving
the leader of and

Item (b) candidates were required to fill the blank by writing the correct answer in the
following sentence: Health services during the colonial period were provided by
in cooperation with

Item (c) candidates were required to fill the blank by writing example of country
which used a direct system of governance during the colonial period in East Africa and
another example of a country that used indirect system of governance.

Item (d) candidates were required to fill the blank by writing two negatives effects of
monoparty system.

Item (e) candidates were required to fill the blank by writing the correct answer
according to the requirement of the question. The question was: Ludwing Krapf is
among the missionaries from who came to Africa to
preach peace and love. That missionary came to Zanzibar in the year

Generally, this question aimed at assessing the candidate’s level of applying
knowledge on different topics measured in this question.

This question was attempted by 1,414 equal to 99.72 percent of all the candidates
whereby 04 equal to 0.28 percent did not attempt it.




Table number 2a: General Candidates’ Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS

AVERAGE
25-6

TOTAL | %
919 64.99

Table number 2a indicates that a large percentage of the performance rate is at the
average level where it has led to the overall performance being good for the 89.46
percentage.

Either, 149 candidates equal to 10.54 percent scores poor performance. The main
reason for poor performance was due to the fact that candidates failed to identify the
requirements of the question from each item. This might be due to low ability of

remembering the topics used in this question hence produced irrelevant responses as it
shown in extract 3.1

Extract 3.1 (BAD)

a) The Afro - Shirazi Party (ASP) was founded in 1957 by involving the leaders of

Kuuﬁg o and \.\Q&r\o\m,,,,,_,,

b) Health services during th(:&)lomdl period were provided by

(erlesl brang in cooperation with mmr\u&, el Suaep




c) An example of a country that used a direct system of governance during the
colonial period in East Africa is A\fruwoss Nouda \linion  while an example
of a country that used indirect system of governance is _C;\_g?ng__ - =

d) Among the negative effects of monoparty system are
mgiﬂgzm.uﬁ.( O R
and __Sﬁtf%}m&w\f\ £ <U¢M.Lm;.-.3 R

e) Ludwing Krapf is among the missionaries from __\& %% o

who came to Africa to preach peace and love. That missionary came to Zanzibar
intheyear _ \% &7\ —
Extract 3.1 is a sample of a script of a candidate who scored poor marks. This
candidate failed to write correct response almost all items except item (e) in the last
gap wrote the correct answer which was the missionary came in Zanzibar in 1877.
Other responses from item (a — d) were irrelevant. Generally, this indicates that the
candidate lacked knowledge on the topics tested this may be due to the fact that
candidate has low ability to remember the topics learned and English language was a
barrier to this candidate, hence scored poor marks.

On the other hand, 346 candidates equal to 24.47 percentages had good performance.
The main reason for good performances might be due to high ability of remembering
and understanding of the topics used in this question, hence produced relevant
responses and meets the requirement of the question as it shown in extract 3.2.

Extract 3.2 (GOOD)

a) The Afro - Shirazi Party (ASP) was founded in 1957 by involving the leaders of

_SLL_CQL A_S_,,C_,L_&Lxc pand _ L\ﬂu\ can rn S50 Q.b-cm

b) Health services during the colonial period were provided by
Lolong _QLL Gglqrnmglﬁ in cooperation with _ _G & 17X any o 2

c) An example of a country that used a direct system of governance during the
colonial period in East Africa is wuag . __while an example

of a country that used indirect system of governance is L(g@:\dva -




d) Among the negative effects of monoparty system are
LQC \‘l- tq, 'Lr on SpasTn L:} e j{['}c ,(g,mucfrjq_ .

and _S k (\3” CLLL\C’” o) L!“fi NOCYs _CL(_\&)(,,,: =5

e) Ludwing Krapf is among the missionaries from ,1' CaNg e s e
who came to Africa to preach peace and love. That missionary camc to Zanzibar
o I o
in the year __\ g8 ] - o

Extract 3.2 shows a sample of a candidate who performed well in this question since
candidate able to produce almost correct responses in many blanks and awarded high
marks. This indicates that the candidate is well familiar with various topics involved in
this question. However, candidate failed to write correct answers in item (b) instead of
writing “in cooperation with Missionaries” candidate wrote “Germany” which was
incorrect response. Again, in item (e) candidate wrote “FRANCE” instead of writing
“GERMANY”".

3.2.2 Question 4: Matching Items Questions

This question consisted of 10 matching items (i — v) and candidate was required to
match the items of column A with responses in column B by writing the letter of the
correct response beside the item number. Each item carried 02 marks, making a total of
10 marks in this part.

Generally, this question aimed at assessing the level of remembering and
understanding of a candidate by matching the formation of Feudal system with the
correct words to produce relevant responses. The items which derived from this
question were as:

i. He was appointed to collect taxes from farmers.

ii. They were renting land from the landlords for agricultural activities
ili. He was appointed to help the Mwinyi Mkuu in Unguja.

iv. Inthis system, few people own property for their own benefit.

v. He was appointed to help the Mwinyi Mkuu in Pemba.

This guestion was attempted by 1,410 equal to 99.44 percent of all the candidates
whereby 08 equal to 0.56 did not attempt it. Table 2a is a summary of the general
performance of this question.
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Table number 2b: General Candidates’ Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS GENERAL
PERFORMANC
AVERAGE E
25-6
TOTAL | % TOTAL | %
418 29.65 474 33.62

Table number 2b above indicates that high percentage of the performance rate is at the
poor level where it has led to the overall performance being average for the 33.62
percentage.

Either, 936 candidates equal to 66.38 percent scores poor performance. The main
reason for poor performance was due to the fact that, the question required ability of
thinking and remembering the information of feudal system in column A with the
appropriate words given in column B. This indicates that candidate unable to match the
historical events hence produce irrelevant responses. Extract 4.1 is a sample of a script
of candidate who had poor performance in this question as shown below.

Extract 4.1 (bad)

ANSWERS
‘ COLUMN A . i, i, [ W] V.
| COWMNE | 5 | C = : LT )

Extract 4.1 is a sample of a script of a candidate who relatively provided irrelevant
answer to all items measured in this question and scored poorly. This indicates that, the
candidate had low ability of thinking and remembering specifically on the topic
measures which was the “Feudal system”.

Likewise, 56 candidates equal to 3.97 percentages had good performance. The main
reason for good performance might be due to high ability of remembering the topics
from which the questions derived and hence enabled to produce relevant responses and
meet the requirement of the question as it shown in extract 4.2.

11



Extract 4.2 (good)

COLUMN B fed h ¢ a a

Extract 4.2 is a sample of a script of a candidate who performed well in this question.
This indicates that candidate had enough knowledge about the items measured and able
to produce all correct responses and awarded full marks.

3.3 SECTION C: SHORT ANSWER QUESTIONS

There were two (2) compulsory questions in this section. The question 5 and 6. Each
question carried 10 marks, thus making a total of 20 marks. For the convenience of
analysis of each question on this section, the following performance ranges have been
used. The candidates scored ranging from 0 — 2 marks considered as poor, from 2.5 — 6
marks as average and from 6.5 — 10 marks as good performance.

3.3.1 Question 5: Fill in the Blank Items

The question consisted of five (5) statements derived from different topics and
candidate was required to complete the statements by filling in the blanks with correct
response in item “’a, b, ¢, d and ¢’’. The items which derived from this question were
as the follows:

Item (a) candidate was required to identify two (2) benefits of the mangrove forest for
the Zanzibar community.

Item (b) candidate was required to draw the symbols which represent the following
items on the map (a) Bridge and (b) Houses.

Item (c) candidate was required to explain briefly two (2) reasons which led the islands
of Zanzibar to have a warm temperature throughout the year.

Item (d) candidate was required to define the term population census.

Item (e) candidate was required to mention two (2) sources of water that we use in our
daily life.

Generally, this question aimed at assessing the candidate’s level of applying
knowledge on different topics measured in this question.

12



This question was attempted by 1,416 equal to 99.86 percent of all the candidates
whereby 02 equal to 0.14 percent did not attempt it

Table number 3a: General Candidates’ Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS

AVERAGE

25-6

TOTAL | %

865 61.08

Table number 3a indicates that a large percentage of the performance rate is at the

average level where it has led to the overall performance being good for the 75.56
percentage.

Either, 346 candidates equal to 24.44 percent scores poor performance because they

lacked enough knowledge about the topic tested hence got poor marks from 0 — 2 as
extract 5.1 shown.

Extract 5.1 (BAD)

a) Identify two (2) benefits of the mangrove forest for the Zanzibar

community

&uu.x e ot ‘}Tii.\u.j erdj- . -

jbu..fk(., C} \Mlp one. o= o
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b Draw thio symbaods wwhl e ok the following items on the map:

H led ol tn ap e =
il 55 Lk Swever s Hure TS S e

[a )] Dfire the termmy oo realatses P
1
it e P gtar Lﬂ_i wlacle B peaum  fuoes frorn one
Place, Mo gnddee Nee On 6. barbcalacs  fou prove

Merdtion Bwre ( ¥% coure $ wirhesr 1t v e In owr daity e

.-J:E' (¥ g d of g -
S owre e ouncm =

Extract 5.1a is a sample of a script of a candidate who scored poor marks. This
candidate had total failed because he or she wrote irrelevant responses and had no idea
about the topic which had been tested.

Either, 205 candidates equal to 14.48 percentage had good performance. The main
reason for good performances might be due to high ability of remembering the topics
used in this question and hence produced relevant responses to meet the requirement of
the question as it shown in extract 5.2

Extract 5.2 (GOOD)

1C ify two (2) benefits of the mangrove forest for the Zanzibar

ia ’ \ ) ‘ '

e the couwre 6L Iourud

atyercdsorn ¢ ) )
i e N A Cepape o (\GOMmer

14



By ng 234 t<, ¢ f 131 A v ons which lad this

—KOJDJJU Iz'dll\".& ‘\{)V@» Layen, ﬁ-*’tf}“at‘uf-

\hr" f& the yeor beguwre the are deve tp the ayuator
et ')undcd bey woayre

{_urrat—b\ .

fl of A-bJ‘ . Conesias s Hhe brotasar
._mu'i"»:{ te nomber =f | cdizens LeL
{)‘u_ ST *I‘ 3 =
SR |
L_oakes-
\:‘:, -n-'i'lr_- »

Extract 5.2 is a sample of a script of a candidate who performed well in this question.
This indicates high ability of the candidate to remember and apply the knowledge
however failed to get full marks because he/she failed to write two reasons which led
the islands of Zanzibar have a warm temperature throughout the year. However,
candidate able to write one correct reason as shown in item (C (i)).

3.3.2 Question 6: Fill in the Blank items

This question had five (5) items (a — e) with roman number to each item. The question
derived from different topics of physical geography. It required the candidate to answer
questions in brief by providing appropriate answer according to the requirement of the
guestion. From item a — d candidate was required to study the figure given and answer
the question and item “e” required candidate to identify two (2) effects of earth’s

rotation. Each item carried 02 marks, marking a total of 10 marks. The items which
derived from this question were as follows:

15



a. Name the latitude lines that identified by the letter A and B.

b. Name two (2) continents which pass through line B on the figure above.

C. Write two (2) mountains that found in the continent which presented by the
letter M.

d. Mention two (2) names of the oceans which surround the continent represented

by the letter O.
e. Identify two (2) effects of earth’s rotation.

Generally, this question aimed at assessing the candidate’s level of remembering on
different topics. This question was attempted by 1,396 equal to 98.45 percent of all the
candidates whereby 22 equal to 1.55 percent did not attempt it.

Table number 3b: General Performance Analysis

CANDIDATE’S PERFORMANCE ANALYSIS

AVERAGE

25-6

TOTAL %
833 59.67

Table number 3 (b) indicates that a large percentage of the performance rate is at the
average level where it has led to the overall performance being good for the 74.86
percentage.

Either, 351 candidates equal to 25.14 percent scores poor performance. This signifies
that they lack of knowledge about the topics measures in this question as shown in
extract 6.1.

16



Extract 6.1 (BAD)

a)

b)

d)

e)

Name the following latitude lines that identified by the following letters:
A:

c: ﬁmlcuﬂm__ ~

Name two (2) continents which passes through line B on the figure above.
o B repe

ii. “)5{&,, s
Write two (2) mountains that found in the continent which presented by the
letter M.

Rnklayt \\&\1
ii. E\UOQDC

Mention two (2) names of the oceans which surround the continent
represented by the letter O.
vt .
i Sowitha PYMEnea
Identify two (2) eﬁ‘ects of earth’s rotatinn.
i wWate™
il WMo 1

Extract 6.1 is a sample of a script of a candidate who scored poor marks in this
question since the candidate wrote irrelevant responses to all items measures in this
question. It seems that English language was a major barrier to this candidate hence
failed to meet the requirement of the question.

Either, 212 candidates equal to 15.19 percentage had good performance. The main
reason for good performances might be due high ability of thinking and transferring the
knowledge to the items measured hence produced relevant responses and meets the
requirement of the question as it shown in extract 6.2.

17



Extract 6.2 (GOOD)

a) Name the following latitude lines that identified by the following letters:
A: Jﬂ‘u_ﬁah_ I e e e e

b) Name tK«o (2) continents which passes through line B on the figure above.

i, ﬂocﬂzm

¢) Write two (2) mountains that found in the continent which presented by the
letter M.

. Mantmin, Ktb.ma.rg = TR T
i. M“migm__‘AH'iUT AUru

d) Mention two (2) names of the oceans which surround the continent
represented by the letter O.

Sowthem. Owan .

il _At lanﬁg Qoo -

e) Identify two (2) effects of earth’s rotation.
i. ) o
i, Tides

Extract 6.2 is a sample of a script of a candidate who performed well in this question
by writing correct responses and awarded high marks. However, candidate did not get
full marks because item “A” candidate wrote irrelevant responses. For instance instead
of writing “A = Tropic of Cancer (23%°N)” candidate wrote A: Tropical line which
was incorrect.

3.4 SECTION D: ESSAY TYPES QUESTIONS

This section consisted of six (6) questions, question 7, 8, 9, 10, 11 and 12. The
candidate was required to choose four (4) questions in this section. Each question
carries 10 marks. For the convenience analysis of each question in this section, the
following performance range has been used. The candidates’ scored ranged from 0 — 2
considered as poor, from 2.5 - 6 marks as average and from 6.5 - 10 marks is good
performance.

3.4.1 Question 7: Democracy

The question 7 derived from the topic of “Democracy.” It required candidate to justify
two (2) advantages and two (2) disadvantages of multiparty system to the society. Each
point carried 2 marks; introduction and conclusion 1 mark each, marking a total of 10
marks. The possible correct answers for this question were as follows: Advantages (a)
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Promoting and expanding more democracy in African countries (b) Promote
accountability and transparency in the conduct of the ruling party's government (c)
Undermine the governance of mono — party system (d) Allow a free economic system
to be established in Africa. Disadvantages (a) Political instability (b) Make voters less
careful and led to choose the unfit leaders (c) Economic stagnation of the country and
(d) Increase in government spending.

Generally, this question assessed the candidate’s level of application on the
advantages and disadvantages of multiparty system to the society. This question was
attempted by 796 equal to 56.14 percent of all the candidates whereby 622 equal to
43.86 percent did not attempt it.

Table 4a: General Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS GENERAL
PERFORMANCE
AVERAGCE
25-6
TOTAL % TOTAL %
339 42.58 404 50.75

Table number 4aindicates that a large percentage of the performance rate is at the poor
level where it has led to the overall performance being average for the 50.75
percentage.

Either, 392 candidates equal to 49.25 percent scores poor performance. The main
reason for poor performance was due to the fact that the question required high ability
of thinking and transferring the knowledge on the advantages and disadvantages of
multiparty system to the society. Hence most of the candidate failed to apply their
knowledge to relate to the demands of the question as shown in extract 7.1.

19



Extract 7.1 (BAD)
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Extract 7.1 is a sample of a script of a candidate who performed poorly in this question
since candidate failed to recognize the requirement of the question and did not
understand the instruction of the question. It appears that English language is a barrier

to this candidate.

On the other hand, 65 candidates equal to 8.17 percentages had good performance.
The main reason for good performances might be due to high ability of candidates in
remembering and applying the knowledge gained on the advantages and disadvantages
of multiparty system to the society, hence produced relevant responses and meets the

requirement of the question as it shown in extract 7.2.
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Extract 7.2 (GOOD)
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Extract 7.2 is a sample of a script of a candidate who performed well in this question
since candidate produced relevant responses and awarded high marks. This indicates
that the candidate was well familiar with the topics tested. However, candidate has
weakness in essay writing skills as the candidate started his/her easy without writing
introduction and conclusion. Again, candidate use roman number in his/her essay
which is not allowed in easy writing.

3.4.2 Question 8: Government
The question 8 derived from the sub - topic “Local Government.”’ It required candidate

to analyze four (4) functions of the district government. Each point carried 2 marks;
introduction and conclusion 1 mark each, marking a total of 10 marks.

The possible correct answers for this question were as follows: (a) Examine the
validity of the actions and decisions of the authorities of the local government in
respective area (b) Empowering the local government Authority and Creating
Environment in Performing legal duties (c) Providing services in accordance with
national standards and quality (d) Develop development plans in accordance with
policy and law and country (e) Develop development plans in accordance with policy
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and law and country (f) Addressing the concerns of the people in the area in action and
(f) Fight against poverty.
Generally, this question assessed the candidate’s level of analyzing issues on the topic
of government. This question was attempted by 668 equal to 47.11 percent of all the
candidates whereby 750 equal to 52.89 percent did not attempt it.

Table 4b: General Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS GENERAL
PERFORMANCE
AVERACE
25-6
TOTAL % TOTAL %
131 19.61 141 2111

Table number 4b indicates that a large percentage of the performance rate is at the poor
level where it has led to the overall performance being average for the 21.11
percentage.

Either, 527 candidates equal to 78.89 percent scores poor performance. The main
reason for poor performance was due English language barrier hence, majority of the
candidates wrote irrelevant responses since they did not understand the requirement of
the question as shown in extract 8.1.
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Extract 8.1 (BAD)

S RBRermemit the susmhili levaiguan
(’Qp aclvvace Ehe obt%\‘dsﬁ-]f :
Wil  metenal: -

M Tle clascess

W _Tl¢ Léc\.o'ur cjru‘jp

Extract 8.1 is a sample of a script of a candidate who scored poor marks. This indicates
the candidate totally failed because he or she wrote the responses which are irrelevant
and has no relationship with the requirement of the question.

However, 10 candidates equal to 1.50 percentage had good performance. The main
reason for good performances might be due to sufficient knowledge of the topic tested
and understanding the demands of the question hence enable to write correct responses
as it shown in extract 8.2.

Extract 8.2 (GOOD)
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Extract 8.2 is a sample of a script of a candidate who performed well in this question
since candidate produced relevant responses and awarded high marks. This indicates
that the candidate was well familiar with the topics tested. However, candidate has
weakness in essay writing skills as the candidate started his/her easy without writing
introduction and conclusion. Again, candidate use roman number in his/her essay
which is not allowed in easy writing.

3.4.3 Question 9: Union between Tanganyika and Zanzibar

The question 9 derived from the topic “Union between Tanganyika and Zanzibar.”” It
required the candidate to explain four (4) reasons for the formation of the Union
between Tanganyika and Zanzibar. Each point carried 02 marks; introduction and
conclusion 01 mark each, marking a total of 10 marks.

The possible correct answers for this question were as follows: (a) the existence of the
Swahili language (b) Good leadership of the founders of Zanzibar and Tanganyika (c)
The existence of a socialist political ideology that resonated with the countries of
Zanzibar and Tanganyika (d) The geographical proximity of the two nations (e) Good

Trade and economic relations that existed between the citizens of both sides (f) The
need to strengthen security in the region of the two countries.

Generally, this question assessed the candidate’s level of evaluating on the topic of
Union between Tanganyika and Zanzibar. This question was attempted by 1,058 equal
to 74.61 percent of all the candidates whereby 360 equal to 25.39 percent did not
attempt it.
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Table 4c. General Performance Analysis

CANDIDATES’ PERFORM ANCE ANALYSIS GENERAL
PERFORMANCE
AVERAGE
25-6
TOTAL | % TOTAL | %
396 37.43 445 42.06

Table number 4 (c) indicates that a large percentage of the performance rate is at the
poor level where it has led to the overall performance being average for the 42.06
percentage.

Either, 613 candidates equal to 57.94 percent scores poor performance. The main
reason for poor performance was due to the fact that the question required high ability
of thinking and transferring the knowledge by explaining four (4) reasons for the
formation of the Union between Tanganyika and Zanzibar but majority of the
candidates who attempted this questions appears to have low ability of thinking and
transferring knowledge to the topic tested in this question as shown in extract 9.1
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Extract 9.1 (BAD)
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Extract 9.1 is a sample of a script of a candidate who performed poorly in this question
due to the exhibited limited knowledge about the topic tested also the candidate failed
to write relevant argument to the question given because of language barrier and failed
to realize the demands of this question. Again the script indicates candidate had low
skills in easy writing s as he/she used roman number as it shown in extract 9.1.

On the other side, 49 candidates equal to 4.63 percentages had good performance. The
main reason for good performances might be due to high ability of thinking and
transferring the knowledge and able to to explain four (4) reasons for the formation of
the Union between Tanganyika and Zanzibar as it shown in extract 9.2.
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Extract 9.2 (GOOD)
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Extract 9.2 is a sample of a script of a candidate who performed well in this question
because he or she first, had easy writing skills. The candidate able to write
introduction, the use of paragraphs, points, elaboration and finally concluded to show
what he/she explain through argument and able to produce relevant responses and
awarded high marks

3.4.5 Question 10: The Colonial Government

The question 10 derived from the sub - topic “health services’’ It required the
candidate to describe four (4) changes that African countries had made in the delivery
of services in health sector soon after independence. The question carried a total of 10
marks. The possible answers for this question were as follows: (a) Hospitals built in
cities and villages to serve many people (b) Educating many health professionals who
are African (c) Build and expand health facilities, clinics and hospitals (d) Prevent
maternal and child mortality and (e) Eliminate health care provision on the basis of
religion, tribe or sex.

Generally, this question assessed the higher order of thinking skills which is
“evaluate”. This question was attempted by 748 equal to 52.75 percent of all the
candidates whereby 670 equal to 47.25 percent did not attempt it.

Table 4d General Performance Analysis

[ CANDIDATES’ PERFORMANCE ANALYSIS GENERAL
PERFORMANCE
AVERAGE
25-6
TOTAL | % TOTAL | %
321 42.91 350 28.79

Table number 4(d) indicates that a large percentage of the performance rate is at the
average level where it has led to the overall performance being average for the 28.75
percentage.

Whereas, 398 candidates equal to 53.21 percent scores poor performance due to
inability to describe their ideas fluently in English language. Similarly, most the
candidates failed to realize the demand of the question as it shown it extract 10.1
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Extract 10.1 (BAD)
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Extract 10.1 is a sample of a script of a candidate who performed poorly in this
question since candidate failed to describe his/her points instead he/she only mentioned
the points. This indicates that, candidate lacked enough skills in easy writing because
he/she failed to write introduction, the use of paragraphs and conclusion. Again there is
spelling error in word “decreasing” candidate wrote — discriseng. English language
appears to be a barrier to this candidate.

Whereas, 29 candidates equal to 3.88 percentage had good performance since
candidate able to describe relevant responses and awarded full marks. This indicates
that the candidate well familiar with the topic tested in this question as it shown in
extract 10.2.

29



Extract 10.2 (GOOD)
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Extract 10.2 is a sample of a script of a candidate who performed well in this question
due to the fact that candidate has easy writing skills as he/she started the question with
introduction, the use of paragraphs with clear points and elaboration. Finally, candidate
has success to write a conclusion even though he/she wrote weak introduction and
conclusion.

3.4.6 Question 11: Economic Activities in Tanzania

The question 11 derived from the sub - topic “Tourism’ It required the candidate to
describe four (4) points on how Zanzibar is benefited from the tourism sector. The
question carried a total of 10 marks. The possible correct answers for this question
were: (a) Tourism brings foreign money to the government (b) Tourism improves the
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conservation of the environment (c) Tourism creates and strengthens strong relations
between countries (d) Tourism strengthens good relations and friendships between
communities and tourists and (e) Tourism causes economic diversification.

Generally, this question assessed the higher order of thinking which was “evaluate” on
how Zanzibar is benefited from the tourism sector. This question was attempted by
1,130 equal to 79.69 percent of all the candidates whereby 288 equal to 20.31 percent
did not attempt it.

Table 4e General Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS

AVERAGE
25-6

TOTAL | %
683 60.44

Table number 4(e) indicates that a large percentage of the performance rate is at the
average level where it has led to the overall performance being good for the 74.25
percentage.

Whereas, 291 candidates equal to 25.75 percent scores poor performance due to
English language barrier, low ability of thinking and discussing ideas in relation to the
requirements of the question. As a result of this, candidates produced irrelevant
responses as it shown in extract 11.1
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Extract 11.1 (BAD)
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Extract 11.1 is a sample of a script of a candidate who performed poorly in this
question since candidate wrote irrelevant responses. It also indicates that candidate
lack of skills in easy writing since he/she use roman number in his/her essay and failed
to use introduction and conclusion.

In contrast, 156 candidates equal to 13.81 percentages had good performance. The
main reason for good performances might be due to good level of the use English
language; familiarity of the topic tested and demands of the question it shown in
extract 11.2.
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Extract 11.2 (GOOD)
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Extract 11.2 is a sample of a script of a candidate who performed well in this question
due to the fact that candidate has easy writing skills as he/she started the question with
introduction, the use of paragraphs with clear points and elaboration. Finally, candidate
has success to conclude his/her arguments with strong conclusion and hence awarded
high marks.

3.4.7 Question 12: Population and Environment
The question 12 derived from the topic “Population and Environment.’” It required the
candidate to explain four (4) points on how overpopulation leads to environmental
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degradation in our country. The question carries a total of 10 marks. The possible
answers for this question were (a) Deforestation (b) soil degradation (c) desertification
(d) water pollution (e) air pollution (f) loss of biodiversity.

Generally, this question assessed the candidate’s level of “applying” on the topic -
Population and Environment. This question was attempted by 480 equal to 33.85
percent of all the candidates whereby 938 equal to 66.15 percent did not attempt it.

Table 4f General Performance Analysis

CANDIDATES’ PERFORMANCE ANALYSIS GENERAL
PERFORMANCE

AVERAGE

25-6

TOTAL | % TOTAL | %

130 27.09 140 29.17

Table number 4 (f) indicates that a large percentage of the performance rate is at the
poor level where it has led to the overall performance being average for the 29.17
percentage.

Either, 340 candidates equal to 70.83 percent scores poor performance. The main
reason for poor performance was due to the fact that the question required high ability
of thinking and transferring the knowledge of Population and Environment to the
demands of the question. Hence, majority of candidates failed to do so as it shown in
extract 12.1.
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Extract 12.1 (BAD)
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Extract 12.1 is a sample of a script of a candidate who performed poorly in this
question since candidate failed to write correct responses. The candidates’ script
indicates that did not understand the instruction of the question. For instance, candidate
wrote early marriage, migration birth rate, and low death rate as his/her answer which
were irrelevant to the demands of the question. English language barrier is the prime
factor for the failure of the candidate. Moreover, lack of skills in easy writing as he/she
use roman number in easy writing.

On the other hand, 10 candidates equal to 2.08 percentages had good performance.
The main reason for good performances might be due to high ability of remembering
the topics used in this question and good understanding of the demand of the question,
hence produced relevant responses and meet the requirement of the question as it
shown in extract 12.2.
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Extract 12.2 (GOOD)
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Extract 12.2 is a sample of a script of a candidate who performed well in this questio
due to the fact that candidate has easy writing skills as he/she started the question wit
appropriate introduction with clear examples, the use of paragraphs with clear point
and detailed elaboration. Finally, candidate has success to conclude his/her argument
with strong conclusion and hence awarded high marks.
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4.0 CONCLUSION

The analysis of the candidates’ performance shows that there is six questions which
was well performed, and six questions have average

Generally, the quality of candidates’ responses were affected by the following reasons:
inadequate knowledge of the concept related to the topic and lack of technical skills in
responding to the question, the candidates also demonstrate poor mastery of English
language which hinder them in answering the question properly especially in essay
type questions. It is expected that the feedback provided in this report will enable
teachers, students and other stakeholders to take appropriate measures to improve the
teaching and learning of History subject in Zanzibar Secondary Schools.

5.0 RECOMMENDATIONS
In order to improve the performance of candidates in History subject, it is
recommended that:

(@) Teacher must teach the topic in detail so that the candidates can be
knowledgeable in all areas of the syllabus.

(b) Candidates should read the question carefully so as to be able to identify the
demand of the question. Moreover, teachers should impart these skills to the
candidates.

(c) Students should be encouraged to read variety of books written in English in
order to improve their English language proficiency.

(d) Teacher should provide enough time for reading and review analysis report.

(e) Students should be encouraged to read widely to enable them to improve their
vocabularies and grammar competences. Teacher also need to initiate various
programs which may help to improve the students in English language skills
such as participating in both inter class and intra school debate clubs and essay
writing competitions.

(f) Teachers should complete the syllabus on specific time in order to encourage
candidates to get knowledge in all areas of subject concern.

(9) Examination council (examination officers) should visit/monitor or send direct
advice to schools on the improvement of candidates’ performance.

(h) History teachers should be given regular seminars and workshops so as to learn
more about the new topics and add more knowledge of the former one.

(i) Teachers should use teaching and learning materials such as drawing and
illustration moreover, students should be given enough exercise in drawing so
as to boost drawing sKills.

(j) School Inspection department should make follow up on the learning and
teaching process in school so as to identify the challenges and come up with
the appropriate solutions.

(k) Test and examination administered to the students should be of an acceptable
standard so as to improve their knowledge and prepare them well for final
examination.
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APPENDIX
SUMMARY OF CANDIDATES’ PERFORMANCE PER QUESTION AND TOPIC

WISE IN 2023
SIN [ TOPIC QUESTI | PERCENTA | REMARK
ON GES OF
NUMBE | CANDIDATE
R s PER
QUESTION

1 Constitution, Good governance, Government,
HID/AIDS, Democracy, Parliament, EAC, United
Nations and Drug abuse

2 Political parties, Colonial social services, Direct
and Indirect rule, Democracy and Explorers
3 Democracy, African Union, Government,

Commonwealth of Nation, Gender, Human
Rights and Corruption

4 Natural Vegetation of Zanzibar, Map signs and
Symbols, Zanzibar  Climate, Concept of
population and environment and sustainable use
of water

5 Earth Movementsand Continentsand Oceans

6 Economic Activitiesin Tanzania

7 Democracy 50.75 AVEARAGE
8 Union between Tanganyikaand Zanzibar 9 42.06 AVEARAGE
9 Feudal system, 4 33.62 AVEARAGE
10 Population and Environment 12 29.17 AVEARAGE
11 Colonial Social Services 10 28.79 AVEARAGE
12 Local government 8 21.11 AVEARAG E
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